1 /- - \
Peview [ Solomon,)

) \9: n A

v, Ma

I A

adomit Wb'jl’* [3/”')'

v, . Vo lome of Uit cel
L

M.’ AV«JJLJf‘J!" =
\y: L‘(}Q7) " 0,0lq(/ _i
(qo'}xloﬂ’)“(/é,oz'lxlow 3
JC: /Q‘f%
2)
Start
i ©
@ @ ¢ = ¢, Y
p End = i@l BGR NF
= === L o =22 kJ
<
@-' Z: g C.F’,""c ar
I_ (90 g)(’ '7.?) (5' 3"’_ L{& L" 6) /'?e,mdva‘/ ;mp/,'rJ /‘-vq‘jn}ﬁ/c )

(

l
-
3
~
q

.

Q@ 70.& x Lol = 0. 906 mof LM,
781
J
= ndH
t; "
= [0406)\/-7&00%1) = -£8837

= A€ LS f =465 "= 50 = = I J
o€)( )/ £ ") Y T



F
¥ . . ;
A 'f’ o
LT —F . /4«__f, _
)
F

F F
| /[/\/ZA/‘O(/

}a@ er than SiHy (\Hm)w)

/
LUnuan deID('_);on

(,/\1.'J‘/’L_)
-fi /J7 V4 £ Fé Va J\FL/

&
Ej) @ L"H";'um
C10; -
)

cio, = _
> +3 ("f) (S (4 |

g\

- o’ O
. O — ) p— < / \
é ] . /
/Mt/HAJL . T’;ﬂ‘“" pv’ra.f‘l

,'t/\ollbv‘l-: BGA+ (I‘JH’ TC""l('I“I
Clect™ Tosheehd! Ele f/'x
-'(Fg po = 167
o5




-\
g, & ¥ A
i =~ €= EmE =&= 0=k
J l
H H
/
3 T (0
10w

C @)
) Oy © N “
C . C R & +vns - C - C
s s -
v
@] © 0
O 0
Q. Y b ’
. Z &« C.r! —> c - C
/Y g -
9] s ©

lo)




) o o

C 3,/‘/9 X = O.O135 nal €05 7 0.()713{__:2( C /
Afl’,()’}a ~ . B L
[41 I,’lcfj v [l = O0,.67103 ~msl Hyo x 2 H EPPrY an i )
6.0 [ 4 e
£ lj L o0 i
Em/{ﬁ}f-, '. C/_}z
E/ﬁ)&l,;lgl MaS = /L{,OZ‘ C #
= y “'> y F'y
S ~
//
[U.026

\Z) X.’,OL{ — Xe 1 ZOQ
e

7LO ks

5 = 760 an b

6o —HO = 720 mmHy

| .4
L - £ (7-9
Ul' 6»’/\] 0/"(/ = 2[ 5’

u"/o art /




mol L O,01 »sl /:1 c/
Ay Mg 01N0.3(U,05L) . 0.0/ P j
J e :
= = a.¢21 ~ ol //] (’/
cl Bl 22 (ao:’“!)- 5 ook el L&l ¥ F T )
Call, ( 2t (0,05 ¢
- 0
z.f-)f.r\ 1— q(fol
o G AT
[OUMI (/055) 720}} (2[ u)
i
yyp 3
*{'J’ Y ]
4 —HYl = U400 F

¢ of
S X . s [-a‘u:]y Eaﬁ
g5 710 //{/ [o' 015" [5:07] v

@ : 3‘{::1-;-‘{: < [g,o})‘/u.or}

X 5
¥z 2 /—3) K = 39?
o) %= 2 —_—
- 2 - A ___l\/
=Xr =) S.5x10° a )([/00:5] Jjo,o(__

j,L{Ylu-‘ /f/ [}/o,;j ya [0 ‘:lta y
4 P
:5) Rare o K ["/0‘1 FCJD

0'2“{ - 0{25
v o=




‘6) ATy = Ky om

mol <olote _ 0. {03 ral CWH“' = .&§7 2%

w =

O. 07y k C, it
/65 Jo/\/- j ¢

_'__.M_‘L = O0.1403 mal CM HN
28 % masr = Qf‘;j clr—( H“’ Z 17§-2%4

C, H, = '
‘75-3 6 ¢ 0075 kﬂ C‘H’&
AT, = K 7z
— (2-‘_5‘)([(7)
= 4gc’"
oc Y 9¢

—_ So F -
= 1=
= Iy P

= £Y.9
— 85



